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Al 62,250
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03 Al S THHI
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500
500

40,
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,000
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=z N W

336,000
168,000

50,400
117,600

220,
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115,420

402 QIZ2tXt=01 ™

= N W

336,000
168,000

50,400
117,600

220,

580

115,420

01 2I2bXHE Al

= M W

336,000
336,000

168,000
50,400
117,600

220,

580

115,420

SXNHA X

= M W
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3,600
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20,
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9,000
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20,

000
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M Geam20l ZHMA 23
ool l2soigiEe U HOEEBH CER-ED
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SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 650,000 650,000 0
= 650,000
05 QIZ2tREF 2 650,000 650,000 0
O RFOHXNYE S#HIME K& 650,000
= 650,000
oH MY Dl HBALS 450,000 400,000 50,000
N 200,000
& 50,000
Al 200,000
307 QI2t0| & 450,000 400,000 50,000
N 200,000
& 50,000
Al 200,000
05 QIZtRES 450,000 400,000 50,000
O HMY D AL 400,000
Xl 200,000
Al 200,000
O Zot3 MYl MHelArd 50,000
= 50,000
HEMY Dl &4 &oHE 220,000 120,000 100,000
Xl 100,000
Al 120,000
201 LBt | 20,000 20,000 0
01 AP 22| d| 20,000 20,000 0
O d&HGIE 2 SRH dH2HII2 XAl 20,000
401 Al HI L 2 0HHI 200,000 100,000 100,000
N 100,000
Al 100,000
01 Al& H| 200,000 100,000 100,000
O oMy Il dadotaE AX 200,000
Xl 100,000
Al 100,000
THE QAAMY D =0AFS 300,000 300,000 0
Xl 150,000
Al 150,000
307 2Iz2t0| & 300,000 300,000 0
Xl 150,000
Al 150,000
05 QIZ2tREF 2 300,000 300,000 0
O Xgs oMY Dl =0HAS 300,000
N 150,000
Al 150,000
AN HHESAH 136,500 136,500 0
& 39,000
Al 97,500
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402 BI2FX=01 M 136,500 136,500 0
< 39,000
Al 97,500
01 B2t 2 AL E X 136,500 136,500 0
O 28U HHIES X&E 136,500
< 39,000
Al 97,500
HeEd 282 XA 250,240 250,351 A1
< 125,120
Al 125,120
307 glz2+ol & 250,240 250,351 A1
< 125,120
Al 125,120
02 YAFHAANFEE 250,240 250,351 A1
O 0ed 28z XA 250,240
< 125,120
Al 125,120
olgel A EEEXE 51,600 51,700 A 100
< 15,480
Al 36,120
307 21201 A 51,600 51,700 A 100
< 15,480
Al 36,120
02 SIZtE S ALHE L 51,600 51,700 A 100
O gel HMIMEEZE XN 51,600
< 15,480
Al 36,120
HeTol2A 282 X 220,893 185,999 34,894
= 65,868
Al 155,025
307 glz2tol & 220,893 185,999 34,894
S 65,868
Al 155,025
02 It M AHEE 220,893 185,999 34,894
O e Mol2EA4E2ds A& 220,893
= 65,868
Al 155,025
HYd Ui L Hazel 6,715 1,805 4,910
201 et 5,000 0 5,000
01 At 22l 5,000 0 5,000
O oIl 3NN EsIHs ¢ 5,000
202 04l 1,715 1,805 290
01 = LH 4 Hi 1,715 1,805 A 90
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O SlHoIATICIES RR28 ML 23 A
9 BAH EA 812
O ol LXHA & odZIAMY =2 903
HEE W2 2MI KR 50,000 0 50,000
< 50,000
402 RIZEX201 A 50,000 0 50,000
< 50,000
01 It AL B X 50,000 0 50,000
O &&d W2 2MI1 NIBAE 50,000
< 50,000
2=y ¥ LAY Edst 2,374,380 3,784,610 A 1,410,230
= 21,400
Xl 1,150,000
< 559,860
Al 643,120
HOHHICHS E & ALY 1,000,000 600,000 400,000
Xl 500,000
= 200,000
Al 300,000
403 MHXISHHE X201 H 1,000,000 600,000 400,000
Xl 500,000
< 200,000
Al 300,000
02 SJ| 2SO0l CHEt At 2 X O & AF & I 1,000,000 600,000 400,000
O HetHt=&d A ALY 1,000,000
Xl 500,000
= 200,000
Al 300,000
19E 25 28 X& 14,000 20,000 A 6,000
= 7,000
Al 7,000
307 glz2tol & 14,000 20,000 A 6,000
= 7,000
Al 7,000
02 It HAMHEE 14,000 20,000 A 6,000
O NYE2RH 23 K& 14,000
= 7,000
Al 7,000
HEMEOIS MRE M8 N2 28,800 28,800 0
= 14,400
< 5,760
Al 8,640
307 21201 A 28,800 28,800 0
= 14,400
< 5,760
Al 8,640
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= _ = s
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= 14,400
< 5,760
Al 8,640
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= 2,700
Al 2,700
307 212t0l & 5,400 14,850 A 9,450
< 2,700
Al 2,700
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O A=tz HHES K& 5,400
S 2,700
Al 2,700
OIOHOIE HiChE: =4 625,000 625,000 0
Xl 500,000
Al 125,000
403 X SHHSA=01H 625,000 625,000 0
Xl 500,000
Al 125,000
02 SISOt =X 0 &AL 625,000 625,000 0
O Hot & Hibhs &4 625,000
Xl 500,000
Al 125,000
ASMIF 2Y EH Y N 140,000 132,300 7,700
< 40,000
Al 100,000
307 21240 140,000 132,300 7,700
= 40,000
Al 100,000
02 HAHFHANEEE 140,000 132,300 7,700
O ZLANI S2EH P2 NAS 140,000
& 40,000
Al 100,000
WA 0 X2 20,000 10,800 9,200
S 5,400
Al 14,600
307 21240 12,000 6,000 6,000
= 3,000
Al 9,000
02 QB AP E X 12,000 6,000 6,000
O LAz ASH X 12,000
= 3,000
Al 9,000
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S22y SN
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A 135,000

402 QI2tXt= 01 ™

= MW
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A 135,000

01 g2 tEAMdEER

= N W
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72,000
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A 135,000
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Al

494,500
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110,000
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S
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Al
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O
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2,000
2,000

2,850

A 850

206 M= Hl

Xl

2l

Al

492,500

250,000
110,000
132,500

382,500

110,000

01 M= dl

O +MZER HY YBAY

Xl

H

Al

Xl
Al

492,500
235,000
100,000
110,000
25,000
187,500
150,000
37,500
30,000
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382,500
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A HYSMR0 IH A5

Sl YNNG L AR el (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
HES U A 25,000 25,000 0
X 20,000
Al 5,000
403 UHXISHHSA=0l& 25,000 25,000 0
Xl 20,000
Al 5,000
02 I/ 2S0ICHet A== OH & A H 25,000 25,000 0
O &R JFSW ZAMEH 25,000
Xl 20,000
Al 5,000
FEANE 48Xl K& 353,299 339, 165 14,134
< 39,105
Al 314,194
201 LBt 1,354 1,425 AT
01 At 22l 1,354 1,425 AT
O ZLANY gdHell 35 SUMH 1,354
307 21201 A 351,945 337,740 14,205
< 39,105
Al 312,840
02 It S AHE L 351,945 337,740 14,205
O ZLANY gdHdeld XA 351,945
< 39,105
Al 312,840
SItAtEl 2 HAY 226,000 226,000 0
< 56,500
Al 169,500
307 glz2tol & 226,000 226,000 0
< 56,500
Al 169,500
02 It HAMHEE 226,000 226,000 0
O 2JtAtel P HALS 226,000
= 56,500
Al 169,500
EMUHE BES 60,000 59,500 500
< 18,684
Al 41,316
307 21240 60,000 59,500 500
< 18,684
Al 41,316
02 QB AAFEE 60,000 59,500 500
O 2SS FHMAS 60,000
< 18,684
Al 41,316
HHotETe X 31,968 92,824 160,856
= 9,590
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Al 22,378
402 RI2EX20| A 31,968 92,824 A 60,856

< 9,590

Al 22,378
01 It 2 ALHE X 31,968 92,824 A 60,856

O OIMATNE Q&AL (RIIIEINPY)N 31,968

< 9,590

Al 22,378
HEXNEH 2F2el 445,031 295,820 149,211
201 et 79,031 79,820 AT789
01 At 22l 38,931 39,720 AT789

O HgXEd gRH (LA 23,950

O HgXzd 22d ¥ 423572l 12,364

O HEglEd s23 1278 € FFME 2,617
02 =24l 40,100 40,100 0

O HgXN=Hd ZHS I 27,700

O HEXNEH mX 22l 12,400
206 = Hl 86,000 86,000 0
01 =8l 86,000 86,000 0

O HEXNEd RFH 86,000
401 Al HIZ 201 Y| 80,000 130,000 A50,000
01 A& HI 80,000 130,000 A 50,000

O HYREH HIIZA ==2ltl 80,000
405 TtabF S| 200,000 0 200,000
01 AL EFH S 200,000 0 200,000

O HgXed HEH(BE) ¢ 200,000
SEHOY 22 ¥ XM 17,100 17,100 0
308 MtXIEHSOIH 12,600 12,600 0
07 HIXNHHAR2E = 3,600 3,600 0

O =80gds 1d=s UM RE=S 3,600
MIIERE=S 9,000 9,000 0

O E80gHs A3 JIEIRE3 9,000
401 AIEHI L 20 4,500 4,500 0
01 A& HI 4,500 4,500 0

O 280 (e, o+)xeltl 4,500
OENEes & HEES 1,309 1,378 A 69
202 Odl 1,309 1,378 269
01 = LH 4 Hi 1,309 1,378 AB9

O 28U 2 HEXNE &5 1,309
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S A off 2 ==4tmt
M A2 OF FM A3
Sl TAUHENE JIEAE &5 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
401 Al HIZ 201 Y| 950,000 750,000 200,000
X 760,000
< 95,000
Al 95,000
01 A& HI 945,000 747,000 198,000
O TASEMNLAEY 945,000
Xl 760,000
< 95,000
Al 90,000
03 Al S THHI 5,000 3,000 2,000
O ENSEMHLAY 5,000
ngoigAas 1,500,000 2,417,500 A 917,500
Xl 1,200,000
Al 300,000
401 Al HIZ 201 1,500,000 2,417,500 A 917,500
Xl 1,200,000
Al 300,000
01 A& HI 1,494,000 2,407,500 A 913,500
O MO X OIS A 797,000
Xl 640,000
Al 157,000
O &=k NZHEHEAS 697,000
X 560,000
Al 137,000
03 AIE8 2 THHI 6,000 10,000 A 4,000
O Xgoedsd 6,000
HEEFNE A4 1,050,000 0 1,050,000
Xl 800,000
Al 250,000
401 Al HIZ 201 8] 900,000 0 900,000
Xl 800,000
Al 100,000
01 A& HI 900,000 0 900,000
O HEFF0E HEAML(BUCE, RHEE) 900,000
Xl 800,000
Al 100,000
403 A X EHHS 20l A 150,000 0 150,000
02 SO 2SO CHSHA 2 X 0H e A H 150,000 0 150,000
O EFFOY T 2 JIE2HALUSY
(&A=&, &IXIEH) 150,000
SUHET RO AEE I RIIAY 355,000 625,000 A 270,000
Xl 284,000
< 35,500
Al 35,500
307 21201 A 50,000 0 50,000
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M A2 OF FM A3
S SHOEOE JIPAIL 25 (29l 8)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Al 40,000
< 5,000
Al 5,000
02 RIZFE MM E X 50,000 0 50,000
O R2UHE ®0tJtD A2 8 JIIRIJIIMNG(F2Y
22 3t) 50,000
X 40,000
< 5,000
Al 5,000
401 Al& I 28I 305,000 625,000 A 320,000
Xl 244,000
< 30,500
Al 30,500
01 A& HI 303,000 624,500 A 321,500
O 24U &0ttt de & JHRIIAMY 303,000
Xl 244,000
< 30,500
Al 28,500
03 Al 20 HI 2,000 500 1,500
O RUHZ &0t A& & HRIIAMY 2,000
el ZHEIIBAIE DAY 1,040,000 847,500 192,500
Xl 832,000
< 104,000
Al 104,000
403 XSS A0l & 1,040,000 847,500 192,500
Xl 832,000
< 104,000
Al 104,000
02 BI|1 2SO0l CHSH At 2 X CH & A I 1,040,000 847,500 192,500
O 2l 2FIIBAIE ZEALE 1,040,000
X 832,000
< 104,000
Al 104,000
HE oot FAER ZHAMY 875,000 625,000 250,000
Xl 700,000
< 87,500
Al 87,500
403 UHXISHHE X201 & 875,000 625,000 250,000
X 700,000
< 87,500
Al 87,500
02 SJ| 2SO0l CHEt At 2 X CH & AF & b 875,000 625,000 250,000
Ok ofietdFs B2HE2 MY 875,000
Xl 700,000
< 87,500
Al 87,500
MOt 2 AST|8 A 1,672,500 1,625,000 47,500
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S A ol L= AtDE
M A2 OF FM A3
S@H2: TAHENE JIEAIE &5 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 1,338,000
& 167,250
Al 167,250
403 XX SHS K20 & 1,672,500 1,625,000 47,500
Xl 1,338,000
& 167,250
Al 167,250
02 BI2SOHUSASEUSEAE Y 1,672,500 1,625,000 47,500
O MHOtE 2ZAS)|IEH AYIAY 1,672,500
Xl 1,338,000
= 167,250
Al 167,250
MAE HASHAZ2E ZAAY 1,031,250 300,000 731,250
Xl 825,000
=} 103,125
Al 103,125
307 QI2t0| & 50,000 0 50,000
Xl 40,000
= 5,000
Al 5,000
02 QI2tAMAIE E X 50,000 0 50,000
O TXNEZHAHAZR ZHAY(=oIA2H2]) 50,000
Xl 40,000
& 5,000
Al 5,000
401 AlEHIZL 2 0HY| 981,250 300,000 681,250
Xl 785,000
= 98,125
Al 98,125
01 Al&H| 976,250 300,000 676,250
O &XT HAaHAIZE LAY 976,250
Xl 785,000
o= 98,125
Al 93,125
03 A& E2HH| 5,000 0 5,000
O BXE HASAZ2R ZHAYE 5,000
SE)Is B8&W A4 800,000 800,000 0
Xl 640,000
Al 160,000
401 AIEHIZL 2 0HY| 800,000 800,000 0
Xl 640,000
Al 160,000
01 Al&H| 800,000 800,000 0
O 2e8lil)ls &0 Al 800,000
Xl 640,000
Al 160,000
HEAE X2 299,500 180,000 119,500
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L= B

el

o2 4 &t
HYSA=O0F BHA 23
SHOE0E JIBAIL &5

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
401 AlEHIZL 2 0HY| 299,500 180,000 119,500
01 Al&H| 297,500 180,000 117,500
O HEAIE X2 297,500
03 A& £ 0HH] 2,000 0 2,000
O HEAIE X2l 2,000
HEF0 =JAS 800,000 0 800,000
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